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QUESTION 1 [20]
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The type of graph most appropriate to represent categorical data which indicates
proportions that make up a given total:

a. Line graph b. Pie chart
c. Barchart d. Histogram [2]

Another term for the median is:

a. Range b. Average c. Second Quartile d. Quartile
deviation [2]

A data set consists of 125 observations that range between 38 and 138. When using
the Sturge’s Rule, the appropriate width of the class is equal to:

a. 20.00 b. 21.50 c. 8.80 d. 8.85 [2]

Data collected on the “Eye colour” of students enrolled in a statistics class are called:

a. qualitative data b. quantitative data c. interval data d. class data [2]
1.7) Lenghtisa measurement scale variable [2]
a. Ordinal b. Interval c. Ratio d. Nominal [2]

The 50th percentile is the
a. mode b. median C. mean d. third quartile [2]

The interquartile range is

a. the 50th percentile

b. another name for the variance

c. the range for the middle 50% of the data values

d. the difference between the largest and smallest values [2]

The weight of an object is an example of

a. a continuous random variable

b. a discrete random variable

c. either a continuous or a discrete random variable, depending on the weight of the

object

d. either a continuous or a discrete random variable depending on the units of
measurement



1.9

1.10

In a frequency distribution, the sum of frequencies for all classes will always equal
a.l

b. the number of elements in a data set

c. the number of classes

d. avalue between O and 1 [2]

The term test scores of 15 students enrolled in a Business Statistics class were
recorded in ascending order as follows:

4,7,7,9,10,11,13,15,15,15,17,17,19,19, 20

After calculating the mean, median, and mode, an error is discovered: one of the 15’s
should be a 17. The measures of central tendency which will change are:

a. the mean only b. the mode only
c. the median only d. the mean and mode [2]

QUESTION 2 [15]

The data below shows the number of hours a group of students spent to prepare for their
IAS501S examination.

13

14 9 17 21 10 15 22 19 13

22

13 19 23 17 21 10 9 20 18

For the data set provided above, calculate the following:
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Range (2)
Mode (1)
Median (4)
Arithmetic mean (2)

Standard deviation (6)




QUESTION 3 [15]

Consider the contingency table below.

Production | Sales | Management | Others | Total

Undergraduate 92 76 24 65 257
Graduate 19 15 62 41 137
Postgraduate 15 26 37 28 106
Total 126 117 123 134 500

If one employee is randomly selected, what is the probability that he or she:

3.1 is either a postgraduate or belongs to sales department? (3)
3.2 is an undergraduate given that belongs to production department? (3)
3.3 is neither a postgraduate nor belongs to management department? (4)
3.4 does not belong to sales department given that is not a graduate? (5)

QUESTION 4 [26]

4.1 Research has shown that 12 patients visit a certain clinic in every 30 minutes. What

is the probability that:

4.1.1 exactly 15 patients will visit the clinic in the next 30 minutes time? (3)
4.1.2 at most 5 patients will visit the clinic in the next 10 minutes time? (5)
4.1.3 atleast 10 patients will visit the clinic in the next 1 hour time? (5)

4.2 The diameters of washers are normally distributed with mean 50mm and variance
4mm. A washer is considered non-defective if its diameter lies between 46mm and

53mm. If one washer is randomly selected, what is the probability that:

4.2.1 its diameter less than 45mm? (6)

4.2.2 itis defective? (7)



QUESTION 5 [24]

The production manager of a cement production company has accumulated the following

information on quarterly production (in millions of Namibian Dollars):

YEAR Winter Spring Summer Autumn
2015 2.6 4.1 4.8 3.2
2016 2.9 4.5 5.0 3.4
2017 2.8 4.9 5.5 3.3
2018 3.1 5.1 5.6 3.6
Find the quarterly seasonal ratios (12x 2 =24)
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APPENDIX A: The Standard Normal Distribution
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